By Hand Ch 3 Mean and Standard Deviation

Busn 210 Fun With Stats = Chapter 3 = Mean and Standard Deviation
r J [."r'.*.
I. Means tell us: roer=g= :
a. What a “typical value” is
b. Measure of central tendency
c. A way of “seeing all the data at once” using a typical value
d. A typical value is useful because it can help us to make decisions

2. Standard Deviations tell us:
Does the mean fairly represent the data?
b. How clustered the data is around the mean?
c. How reliable the mean is
d. Coneceptually, it is an average (mean) of all the deviations
1. A deviation is simply how far a particular value is from the
mean (is it below the mean or above?)

Sample Mean

For ungrouped data (data not in a frequency

distribution)
Sum of all the wlues in the sample

Number of values in the sample

B

Sample Mean

Define Varnables & Symbols

X | =|Sample Mean = "X bar"

n | = |Total number of obsenations

X | = |A particular value

Z | = |Indicates the operation of adding = "sigma”

iX| = |5um of the X walues 1

Standard Deviation
Measures of Dispersion:
“How Big is the Variability in the Data?”

= [(2X-u) i —X)
= = % £= S": M
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e Watablbs & Shanbols

Defing Vadables & Symbois

o=t | =|Pop. Standend Dedatlon peafi | = [Bampa Standird Bedation
Total mumbes of cheerations
n =ilnas dercrmenaior bends o
M =|Total number of ohspnations e S T O P

| Privdcies) e appropiata comeeiion
o Lesnis Denatan

X =[A panicular wlie

¥ =|Samqia Maan

X = LA, pasticular walus

H Pop. Mean

The primary use of the statistic s? is to estimate o°, therefore
(n-1) is necessary to get a better representation of the -
deviation ar dispersion in the data (n tends fo underestimate)
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3. Skew tells us:
4. The relationship between:
i. Mean (Arithmetic Mean)
ii. Median (The one in the middle positionally)
iii. Mode (The one that occurs most frequently)

Skewness
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